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Starter
· If you were going to start a business selling products at a festival – what would you sell?




Your festival business
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Basic terms:

	Sales revenue
	


	Variable cost
	

	Fixed costs
	

	Profit
	






Sales volume formula – write that here:






	
	SR
	SP
	SV

	Hats
	£100,000
	40p
	

	Sunglasses
	£60,000
	£1.20
	

	Wellies
	£80,000
	£4.60
	



Sales revenue formula – write that here:
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Write a definition of fixed costs here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: ]Examples of fixed costs
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



Fixed costs of a festival business
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


Calculation of fixed costs





















Fixed costs on a bank loan
· For example, a loan of £5,000 at 9.9% over 3 years would be:
· Monthly repayments £_____________________________
· Total amount repayable £___________________________
· APR 9.9%Total cost of credit £______________________
	Step 1
	





	Step 2
	




	Step 3
	






Bank loan calculation examples:
	
	Example A
	Example B
	Example C
	Example D

	Number of years loan is over
	£30,000
	£10,500
	£4,500
	£9,000

	Percentage rate of the loan
	5
	10
	3
	4

	Total cost of credit
	7%
	5.5%
	6%
	8.25%

	Total amount repayable
	
	
	
	

	Monthly repayments
	
	
	
	


Definition of variable costs
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Total variable cost formula






	
	AVC
	Q
	TVC

	A
	£2.25
	40,000
	

	B
	40p
	125,000
	

	C
	£6.50
	65,000
	



Total costs formula






	
	AVC
	Q
	TVC

	A
	£30,000
	£66,000
	

	B
	£42,000
	£52,400
	

	C
	£127,000
	£170,000
	


Formula to calculate changes: 
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Hats £5.50 40,000
Sunglasses 30p 125,000
Wellies £2.00 65,000
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Extract A

Microsoft buys Nokia handset business for €5.4bn

Nokia is selling its mobile phone division for €5.44bn (£4.6bn) in a deal that will result
in 32 000 staff transferring to Microsoft. This takeover marks the boldest step yet taken
by Microsoft in its recently announced strategy of moving decisively into the device-
manufacturing business. Prior to this deal, Microsoft provided Nokia with Windows
software at a reduced cost to prevent it from developing its own operating system.

Microsoft hopes this move will allow it to design hardware for its software products and
will therefore bring it the kind of success enjoyed by competitors such as Apple.

As part of this deal, Microsoft is also providing €1.5bn of immediate financing to Nokia
who have been unable to raise external finance. Even inside cash-rich Microsoft, Nokia's
phone division will face serious challenges. In 2010, revenue from sales of Nokia handsets
was €7.2bn. By 2013, revenue had fallen by 61%.

(Source: adapted from ‘China lifts 13-year ban on video game consoles’ by Fred McConnell,
7 January 2014, © Guardian News and Media Limited 2014)
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Using the data in Extract A, calculate Nokia’s sales revenues in 2013. You are
advised to show your working.
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